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HRT -1/ PART -1

[3]

[A]

919 fae Td {31eemes / CHILD DEVELOPMENT & PEDAGOGY
[Adsr : [=itee gedl % G737 % [ qa] S [A%e g

Direction : Answer the following questions by selecting the most appropriate option.

1.

Frifed & | #F-d1 daeq guis
g S TN G e @

(1) sfaefe ™

(2) Fritemees s

(3) Hfcr fambra

(4) TRt orgian

o R KIS (R B CED - ST e el |
IR ST F AY-fER, REEE &
wraHISR famrd @ iR § | TR
R % TAIA § 7

(1) T9am s9M Sfdgarq

(2) W a9 9 Ud Hes

(3) UBd IIM ST AY

(4) YESF SH 4fFER 99 (Role Confusion)
R 1 T8 HEgd B WA A
g e B @ s & S wedl @

(1) SR e

(2) FAH 390

(3) TARRRET F4rer

4) gt FarEm

HAIYYH  FIER A9 (Applied

Behaviour Analysis or ABA) f=ifea &
4§ g sl W ooaia & 7

(1) e Srgdes
(2) fopam Jga ergeed

(3) dAmdfte s
(4) OIS ARy

Level-3/3308

1.

Which of the following concept 1is
derived from famous 'Bobo Doll'
experiment ?

(1) Insightful learning

(2) Observational learning

(3) Moral development

(4) Conditioned response

The age range of Genital Stage of
Freud's
development is similar to which of the
following stage of Erikson's theory of
Psycho-social development ?

theory of  Psycho-sexual

(1) Trust vs mistrust
(2) Autonomy vs shame & doubt
(3) Initiative vs guilt

(4) Identity vs role confusion

The feeling of adolescents, "Everyone is
looking at me", can be termed as :

(1) Personal fable
(2) Imaginary audience
(3) Anorexia Nervosa

(4) Bulimia Nervosa

Applied Behaviour Analysis is based on
principles of :

(1) Classical conditioning
(2) Operant conditioning
(3) Insightful learning

(4) Observational learning

P.T.O.



[A]

gar AR H gE A 6 d

gﬁ\cﬁaﬁaﬁﬁﬁﬁrﬂ%’,aﬁww

(1) AR Heah

(2) FEEH I

(3) oM W

(4) SArcAIEHTEA

Feones oMM & 9 ddl & g8

HH FE 7

(1) S@gM — SRR — 9RO &
— &

(2) I — RO HAT — FASHEA

(3) I — YTEMART —> GROT B
(4) TFIN — RO HET —  ARWRET

frifeg & @ F9-a1 w9 e &

e o & fosid & d9e9 | el

& 27

(1) 98 39 HgaT W oeid ® %
foepra U STEAd iR 2|

(2) TE 39 HAT W oNeag & % 9=
g Td TR 8 dEd
g

(3) T& 3 A W NgiRg 2 %
foepr sk Tad gl 2

(4) 98 T HEAT W oeiRd ® %
REIRIECEA Mo Fae ki | M i <

Stta &9 (&) @ HeheqeT, T W ©
(1) =T AT &l

(2) fopam Jd STgse &

(3) Sidefte ST &

(4) e &= f=ia &

Level-3/3308

[4]

"Young teen-agers often believe that
they are completely unlike any one
else.' This phenomenon is known as :

(1) Personal fable

(2) Imaginary Audience

(3) Self realization

(4) Self disclosure

What is the correct sequence of four

elements of observational learning ?

(1) Attention —  Motivation —
Retention — Reproduction

(2) Attention —  Retention —
Reproduction — Motivation

(3) Attention — Reproduction —
Retention — Motivation

(4) Attention —  Retention —
Motivation — Reproduction

Which of the following statement is not
true about the theory of cognitive
development given by Jean Piaget ?

(1) It believes that development is a
discontinuous process.

(2) It assumes that children learn
through assimilation and
accommodation.

(3) It believes that development is a
continuous process.

4) It
development takes place in four
different stages.

believes  that  cognitive

The concept of 'Life Space'is a part of :
(1) Classical conditioning

(2) Operant conditioning

(3) Insightful learning

(4) Lewin's field theory



9. FERIHE JAaa Ud 4  Foy Hag & ?

(1) 3 Rl TgfRT i 5o & & |
(2) A Rl STRRAT T HHOIR FI B |
(3) THERIHF YA Rl rfear @l

3% ST & Sl 42 R arRRa

P FHEMT S 2 |

(4) TERHE YAEd e SRR @l
FANL ST & & &g Rl
SRR A 35 & B |

10. I TH ThAr @ AN (R

W/aﬁrq‘@faﬁézﬁ%aa Tedl fRa
SR, Fad R/ GTI?ﬁT
g, & WU geed & &9 | {6
T 7E o §

(1) Wi = i

(2) d+ER® @ fEid

(3) R} &1 fEia

(4) gAE H S

1. F=ieg § @ #d9-@r R efaa
YA & e 7@ & 7

PR

ﬁ

(1) uierHE a9 T e

(2) TH I X SEA Rl

(3) oTafys &9 § dd-9rd & oY T
(4) dfed Jawgfs o

12. fHfafag & & ®9-a1 faeeg offfesy
W fegaiey o fgouar 78 & ?

(1) 3@ AR G & awer
(2) AT SA=ilsha § o
(3) 9fess AR AMfEs TR § qHEn
(4) STEEHE /AR FABR

Level-3/3308

[5]

10.

11.

12.

[A]
What is the relationship between negative
reinforcement and punishment ?
(1)
2)
3)

Both tend to strengthen a response
Both tend to weaken a response

Negative reinforcement strengthens
a response whereas punishment
weakens a response.

“4)

Negative reinforcement weakens a

response  whereas  punishment

strengthens a response.

If one activity occurs more often than
another, it can be used to reinforce the
activity that occurs less often. This
principle is known as :

(1) Premack's principle

(2) Thorndike's principle

(3) Skinner's principle

(4) Pavlov's principle

Which of the following is not an

example of fixed interval schedule of
reinforcement ?

(1) Getting salary every month
(2) Dialing a busy number
(3) Having a periodic dental checkups

(4) Getting increment every year

Which of the following option is not a
characteristic
Disorder ?

ey
2
3)

of Autism Spectrum

Problem in vision and hearing
Problem in social interaction

Problem in verbal and nonverbal
communication

“4)

Repetitive behaviour

P.T.O.
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13.

14.

15.

16.

fFY S oTUMT HiEEd HE SeddY A 497
foram | St fepil 1 SEeRl T AX qE1 79
qE D g% a9 ofF & T’ X IE
ZHEH HROT frifhd & | & Tbar © ¢

(1) &7

(2) qEERRa g

(3)

(4) LA

frifhd & ¥ BH-T1 FOF AR B

gﬂ;ﬁ—w@mm%ﬁaﬁﬁaﬁaﬁ

(1) = st F@ @, o1 "emar &,
T & T 8, 3¢ B gC d agd
FH diEd 2 |

(2) e faE &1 a7, 39 fHeia &
T% AN R

(3) T II9% & GIATHS [dpre H AT
% et Hl IUET H B |

(4) & GIEIHE (9 H O@HST T
HERT % R T e & ¢ |
H & AR & AgAR, FEifed § A
PIF-T HAAIED & BN U SR 787 & 7

(1) ST

(2) faeeteor

(3) deaor

(4) ergfseam

Rk & W-thed Hiedd ® G [Tk
¥ -1 B HEET T e w ?

(1) AR g

(2) fEres

(3) TEE AN

(4) afte Tg A

Level-3/3308

[6]

13.

14.

15.

16.

Kim changed her mobile number; and
got a new number. When some-one
asked her new number she could recall
only three digits of her new mobile
number. The cause behind it may be :

(1) Decay

(2) Proactive Interference
(3) Suppression

(4) Regression

Which of the following is rot true about
the socio-cultural theory of Vygotsky ?

(1) Children learn very little from
performing tasks they can already
do independently.

(2) Concept of Zone of Proximal

Development (ZPD) is a part of it.

3) It the
language in cognitive development.

ignores importance of

(4) It emphasizes role of socio-cultural
environment in cognitive
development.

As classified by Bloom, which one of
the following is not a subdomain of
cognitive domain ?

(1) Application

(2) Analysis

(3) Synthesis

(4) Responding

Which of the following is rot controlled
by pre-frontal cortex of brain ?

(1) Body Movement

(2) Thinking

(3) Problem solving

(4) Vision & Hearing



17.

18.

19.

20.

fR SRl & famEaw & ded H
freifed & @ @9-a1 &N g 78
g7

(1) g2 9T &9 H TH TN 2|

) fEmEas & W fReiR S gfE
W A & g8 =% H e 2 |

(3) 3OH AMYE & S9g ARG B
9T Bl 2|

4) @8 IRRE & 99" qEEE Bha
9T Bl 2|

UF X TE HEYH HIAT © 6 AT T
A& o el WR Rl 9 R e B
TE b ©

(1) HAE 396 B

(2) T He® B

(3) HATH-UI=T /9=

(4) UBEN Ghe &

IR UE By H B8 Ud g B
e o iR H 9 fRE WER
28 % Harm e © 7

(1) SUMM - 4RER &g I

(2) URER - URER & &I

(3) IUFM - IYFH & FHl

(4) 27 IUM - UER &8 &l

Gl
%

% AR FHIed § § -9 d% &
‘Teq &% ¥ Hfed 78 © 7

(1) femeg
(3) B

(2) 9™
(4) g Rart

Level-3/3308

[7]

17.

18.

19.

20.

[A]

Which of the following is rot true about
Day Dreaming among adolescents ?

)
2)

It is a form of active play.

The roles adolescents adopt in day
dreaming are heroic.

3)

It involves more physical activity
than mental.

“)

It involves more mental activity
than physical.

A teenager feels that no one has ever
been as deeply in love as he is. It

indicates :

(1) Imaginary Audience

(2) Personal fable

(3) Self identity

(4) Identity crisis

The phrase, 'six on one hand, and half a

dozen on other' best describes which of

the following type of conflict ?
ey
2)
3)
“)

Approach - Avoidance conflict
Avoidance - Avoidance conflict
Approach - Approach conflict
Double

conflict

Approach - Avoidance

According to Ecological systems theory
which of the
following does not belong to Macro
system of the child ?

(1) School (2) Values
(3) Laws (4) Customs

of Bronfenbrenner,

P.T.O.
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21,

22,

23.

24.

25.

R & dey § FEied § @ dE-a

Fo9 T 78 B 7

(1) e fiad & 0% TR 2 |

(2) T8 95T Faer H gha & © |

(3) & TH HiEHT S ¢ |

(4) T8 TR & TG B & [0 &
SIS

‘% 3 w Ay e [ wmr

(1) fo wd | sm

(2) BT TG Ded BN

(3) & ud gae EN

(4) aEEd od X En

“fopr & 2@ O H S OTONl i,

FM, B9 UTH Y Hadl M & BN

fefae @ 217

Te HY9 Fifed H § 9 @SR

forepra 1 oTaRen @ TAH ST © ¢

(1) HI&T THE e

(2) Td SR e

(3) i Hiharcas e

(4) =R GhpaTHS STaee

freifed & 9@ fhe  d@-oeds @

AT AT ST B 7

(1) 31@he fao

(2) fEER A

(3) Sflo WA 2

(4) dlo Tho RepX

freifed & & @9-o1 fRaEeEr &

Ruga f&ae &1 ey 787 8, 9dn &

Tdfhrs R 9/ T 8 ?

(1) aTestars

(2) aE-fgare @i ggia

(3) gfear/emried

(4) fafersear %1 ggfd

Level-3/3308
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21,

22,

23.

24.

25.

Which of the following is rot true about
areward ?

(1
(2)
(3) Itis a pleasant stimulus.
@ It is

response.

It is a type of bribe.
It increases desirable behaviour.

given to strengthen the

The 'investment theory of creativity' is
given by :

(1) Binet and Simons

(2) Carrol and Cattle

(3) Sternberg and Lubart

(4) Watson and Ryner

"At this stage of development, children
think with their eyes, ears, hands and
other sense organs."

The above statement best describes
which of the following stage of
cognitive development ?

(1) Sensori motor stage

(2) Pre-operational stage

(3) Concrete operational stage

(4) Formal operational stage

Which of the following is the founder of
Child Study Movement ?

(1) Alfred Binet

(2) Theodore Simon

(3) G. Stanley Hall

(4) B.F. Skinner

Which of the following is not a form of
immaturity  of  thinking
adolescence as proposed by Elkind ?
(1) Idealism

(2) Argumentativeness

during

(3) Assertiveness

(4) Specialness



26.

27.

28.

29.

30.

Frefifed & & ®F-d1 Reer e
cMedi=h 78 & 7

(1) e e

(2) 9

(3) @

4) gasiF

SIECIEC - I COMR PR R I o
frsfd & #A-@1 Fem g @
Heed T & 9 © ¢

(1) SI9IT & e

(2) I &1
(3) UHE H FIH

(4) TR (Fard) &1 e
‘el T g Qe g 2

(1) gfe afmr 3o T=at & fo

(2) AT e gHI T==l & T

(3) ST AEHHTT YTl & forg

(4) AqfEF T o F=at & g

¥ gfE # MEaREd § 8 S

Hebas darm © 7

(1) gia T § 103 3% 9 HTT

(2) S & Har e FHA

(3) A I U< HAT

(4) g=UeT % ggEd TN T B A
RG]

U% T BT BT TN §euel @l
o Sl UHN TRAT ® orET 3§ 3% W
¥ 39 |9 & ST B | I8 SEed’ ©
(1) fopam 9ga STgee &

(2) I AT

(3) e e &

(4) Sidefte SR &

[9]

26.

27.

28.

29.

30.

[A]
Which of the following is not a
democratic teaching strategy ?
(1) Problem solving
(2) Project
(3) Discovery
(4) Demonstration
Which law of '"Trial and Error' given by

Thorndike is similar to the concept of
reinforcement’ ?

(1) Law of Use

(2) Law of Disuse
(3) Law of Effect

(4) Law of Readiness

‘Modelling' is an effective teaching
method for :

(1) Children with visual impairment
(2) Children with learning disability
(3) Acid Attack Victims

(4) Children with intellectual disability

Which of the following is best indicator
of high intelligence ?

)
2
3)
“4)

Scoring 103 on an IQ test

Reciting poem from memory
Earning high grades

Not making the same mistakes after

receiving feedback

A child angrily hits a playmate in the
same way that he has been punished at
home. It is an example of :

(1) Operant conditioning
(2) Classical conditioning
(3) Observational learning

(4) Insightful learning

Level-3/3308

P.T.O.
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HRT— 1l / PART - Il
A (R= @d $i3sh) / LANGUAGES (HINDI & ENGLISH)
[ &=/ HINDI ]
@1 : =i go7] % e @7 @ [T qa8 SfEd [dweq giae

31. INi g | g 9= BIfeT
(1) wemEE
(2) @¥fhd
(3) AT
(4) Prar

32. dfver #i gfte & o fasked g -
(1) @F + 9% = qER
(2) fasg + = = fasa=

(3) TEE + O = TEAAR
(4) 9T + 197 = A

33. U I 3 q @I [T geu

(1) FgT + 7=y
(2) 39X + T =Ty
(3) ARF + F = Wi

4) fafire + 7 =3

34. TAE F e q HHE-A OEA  FGIT

g7

(1) 9 R 99 = 9d geiid

(2) 9a9 § TR Gl Tl = Y]
(3) @8 Sl =g A AT B = =LA
(4) THER % f0 o= = HHERE

Level-3/3308

35. ke § dgaE o1 A= H SFGAT Hh
BifeT
(1) sl
(2) Tt
(3) gt
(4) et

36. 9 ey H ‘orgm OgEY THE &
R BT B 7

(1) "
(3) Tderd

(2) fefqea
(4) FHSH
37. PR H P &9 W & - 9 § 9gH
A T
(1) Fyggam=s (2) ANYEIaES
(4) JoHarEh
38. e @ § R d@ HHE-HE-A
g7
(1) i o) q==
(2) i, g SR FR®
(3) ff oiR #R®

(4) I, aeF Ud gey

(3) u9arEH



39.

40.

41,

42,

P o/ H ‘UM S afe @l S
TET & 8 7

(1) =M

(2) =B~

(3) THHD

(4) HIG=BET

TE AR g d Al B B - I
e faQer @ e @ feg sraem @
ara® & 7

(2) FaUEET

4) &0 @ B T

(1) etz
(3) I
=1 4 @ fpm foeed & ST aes
e B 7

2 g

(4) g

(1) &g
(3) T

FROBRE P qH G

(1) & G 9 | 2l 2 |

(2) 3 fomr Em M R

(3) afer TS | Feereh Fre 2 |

(4) 39 @Edl B | UF == H 6
goe | T |

[11]

43.

44,

45.

[A]

qu-fax @ e | oI faeed

g -

() @ & ©F § I=d & qa9 @1
% AN 8 M @Y IR & R
W dH @ #Ead & Se
- ®=&M & S=Ra @
feme =X & am @ M =
FYHRT @ FEA ¢ |

2) FTER @S H TP §; TEE
T @R A T 2 |

(3) o1 @ & I=RT ¥ gar T 9
T g @A g@ A4 e o
S B9 @ & SERe {4y
g & re-qry A § e
g 3% ‘TRIAIa® @ el S 8 |

(4) =8 qoimen § 9 ¥ § & aof o
g e T 8 F F omfe v wmyt
e 2 |

BAAHY SR UH-gE H THH o
Siiad e Bl ST - I e fhd
FT q Gae 8 °

(1) BYegHe s (2) Hred i
(3) 9Mg Aia=q (4) |y aaHe

‘RIS H JETTRA bl gie | H
4 @87 (STRIE) %A are e &

(1) foretea, op¥, aRife], &1o1

(2) &, A, A, foase

(3) ¥, Fdifd, foase, &

(4) aFAif, ¥, foase, afor

Level-3/3308

P.T.O.



[A]

[12]

[ 3T3STl / ENGLISH ]

Direction : Answer the following questions by selecting the most appropriate option.

46.

47.

48.

Choose the word in which the prefix

dis — is incorrectly used :
(1) Disbelief

(2) Disobedience

(3) Discomfort

(4) Discussion

Complete the sentence using the correct

option :

George has travelled alot. He ............

speak four languages.

(1) may (2) can

(3) need (4) must not

Choose the correct option for the blank

given :

He found her blue ford escort in the car
park. ............ vehicle was locked and

the lights were off.
(1 A (2) An

(3) The (4) zero article

Level-3/3308

49.

50.

51.

52.

They rested when evening came.

The underlined group of words in the

above sentence is a/an :
(1) Adjective clause

(2) Noun clause
(3) Adverb clause

(4) Conjunction clause

Choose the word with the incorrect
suffix 'ship':

(1) Friendship (2) Membership
(3) Relationship (4) Argueship

Which of the options given below is the
correct indirect form of the given

sentence ?

He said, T have passed the examination'.

(1) He said that he had passed the

examination.
2)
3)

He told I have passed.

He said he must have passed the

examination.

“4)

He informed us of his passing.

Choose the correct synonym of the

word 'contaminate’ :
(1) Defile (2) Rehabilitate

(3) Detach (4) Valid



[13] [A]

53. Choose the correct plural of the word 57. Choose the correct option of the
'species’ : underlined phrasal verb :
(1) Specis We must cut down expenses or we will
(2) Species be getting into debt.
(3) Speceis (1) Reduce in size or amount
(4) Specieses (2) Appear
(3) Expose

4. Ch h t iti .
54. Choose the correct preposition for the (4) Rise to the surface

blank given below :

58. Choose the correct form of the verb

She had great affection ............. her 'play’ from the options below :
grandchildren. They .............. (play) since four
(1) within (2) into O'clock.
1) h layed
(3) against 4) for (1) have playe
(2) will play
55. The old man was tired of walking. (3) play
The underlined word in the sentence is (4) have been playing
used as a:

59. Choose the correct past tense and past

(1) Participle participle of the verb 'Begin':

(2) Gerund (1) Began, Begun
(3) Noun (2) Begun, Begun
(4) Adverb (3) Begin, Began

(4) Begun, Began
56. Choose the correct form of the verb :

60. Choose the correct synonym of the

Gymnastics ............... my favourite
word "Pinnacle’ :
sport.
1) Peak 2) P
(1) is Q) are (1) Pea @) Pass
(3) Foothills (4) Deep
(3) were 4) do

Level-3/3308 P.T.O.



[A]

[14]

HET -1/ PART -1l
g 31e9g-1 / GENERAL STUDIES

[ AEITH% JRGdT, difthsh SATRMRIAT G |MT 319 U9 S1R¥sT< / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3T : =it ged] & 37 @7 % [ qe98 ST [dweT g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

g "e 10, 12, 15 qO1 18 & o

fefor 8 arer =gAaH oot v @
(1) 876 (2) 900
(3) 981 4) 1024

CH fam AR AND, B P EIA
H AL ERIFND & 921 C 2, a B
3T E &1 91 95 & 7

(1) E
(2) e
(3) fd
(4) @l

fepdl Hishice w1 § 'CERTAIN' &l %2
= 'XVIGZRM', 'SEQUENCE' & %z
I 'HVIFVMXV' &, @ 'MUNDANE'
ST FT FHT BT

(1) NFMWZMX
(2) NFMWMZX
(3) NFMWZMV

(4) NFWMZMV

Level-3/3308

61.

62.

63.

The least perfect square number which
is exactly divisible by :
10, 12, 15 and 18

(2) 900

(4) 1024

(1) 876
(3) 981

A 1s the father of C and D is the son of
B. E is the brother of A. If C is the sister
of D, how is B related to E ?

(1) Daughter
(2) Brother-in-law
(3) Husband

(4) Sister-in-law

In a certain code, 'CERTAIN' is coded
as 'XVIGZRM', 'SEQUENCE' is coded
as 'HVIJFVMXV' then how would
'MUNDANE' be coded ?

(1) NFMWZMX
(2) NFMWMZX
(3) NFMWZMV

(4) NFWMZMV



64.

65.

66.

67.

= # 9 F9-@1 I "DICTIONARY"
% e B JAN B B FeT S S
e

(1) RATION

(2) DAIRY

(3) NATION

(4) ACTION

AP, QHFM WE S, R, PH WA &, S, T
FAE R T, QFH A& 2, @ S B AWM
P g ?
() R
(3) T

2 Q
4) P

"BRIGHTER" 915 & 31eRl & fohae TR
fF efIel oy & 2 § ?

(1) 4 (2) 2
3) 1 “4) 3
ar Lot A q [N g
y 5 ’ 7 2y+x
g
1
1 _
(1) -
3
2 =
(2) -
1
3) 3
@ 1

Level-3/3308
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64.

65.

66.

67.

[A]

Which of the following words cannot
be formed by using letters of word
"DICTIONARY" ?

(1) RATION
(2) DAIRY
(3) NATION
(4) ACTION

If P is brother of Q, R is father of P, S is
brother of T. T is daughter of Q, then
paternal uncle of S is :

() R 2) Q

3 T 4) P

How many pairs of the letters does the
word "BRIGHTER" contain in such that
the two letters of the pair have as many
letters between them in the word as
there are in the English alphabet ?

1 4 (2) 2

3 1 “4) 3

If

=i, then value of E_Zy—x
5 7

*
y 2y+x

18 :
(D
()

3)

W= QW Q=

C))

P.T.O.



[A]

68.

69.

70.

71.

Uk AR H, A g C &% dsr & U
2: 18 Sk AdB & = Fas &
A 3 : 2 B AR ITH F AN HH
1,573 €, a1 Bl fehe & fieim ?

(1) 363 %o
(2) 484 %o
(3) 605 %o
(4) 726%0
U ARH AU Y G 14 a9 g H 9l
g, A 99 dE, IHH AY AW G &

AY 1 A BN A g aaEe g
e 7

(1) 8ad

(2) 10 a9

(3) 12 a9

4) 14 T

e # e Eof demn J1q H
10, 12, 28, 90, 360, 1850

(1) 12 (2) 28

(3) 90 (4) 360

28 TH % USH, 42 ¥ & Ui 9 21 H@®
3 USl @ Uik & IR WX 39 YR o
T S R e gl iR § dad
% & UPR d 9O d@er H U e | al
gl Ut B @ & U A dfeRE
& GE& Bl
(1) 9

(3) 11

(2) 10
4) 13

Level-3/3308
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68.

69.

70.

71.

In a business, A and C invested amounts

in the ratio 2 : 1, whereas the ratio

between amounts invested by A and B
was 3 : 2. If their total profit is Rs. 1,573.

How much amount B will receive ?
(1) Rs.363
(2) Rs. 484
(3) Rs. 605
(4) Rs. 726

A man is 14 years older than his son.
After two years, his age will be twice
the age of his son. The present age of

his son is :
(1) 8years
(2) 10 years
(3) 12 years
(4) 14 years

Find the wrong number in the series :
10, 12, 28, 90, 360, 1850

(1) 12 (2) 28

(3) 90 4) 360

There are 28 mango trees, 42 apple trees
and 21 orange trees have to be planted in
rows such that each row contains the
same number of trees of one variety
only. The minimum number of rows in

which the above trees may be planted is :
1 9 (2) 10
3) 11 4) 13



72.

73.

74.

75.

76.

A % = B 8 g 4 B A =R C H
REFT &, g @ 30 @ C, 54 fiFfe H
T FaT 2, @ B fheq @y ¥ g
BT ?

(1) 9 e (2) 18 e

(3) 12 Hee 4) 15 MHee

I AR Wie # TEE Td deR

HAM 50% TA 20% <o Sl g, @
T6D S F fbae T gRg BRT 7

€] 2)

3)

10 @eX 39 | 8% UMl &, TEH b
& 3 foamn oo fed gq fee |
Il 4% T& T 7

“4)

N|—= W[
Nk Wl

(1) 6T (2) 8drex
(3) 10@rex (4) 15drex
PIiS sinA—cosA=0 g, ar
sin4A+cos4A HT 7 BT :
(1) 0 2) 1
1 3
- 4) =
(3) 5 4) 1

Tk T, ﬁﬁaﬁgﬁaﬁwﬁ%
g9¢ H 0 F & SEh I8 gl Hl
Wﬁl%aﬂ%ﬁaﬂaﬂ—cﬁ%qﬁﬁ
5 frdt ofa guer @ g & =l B, @
Re} gl § A9 &l T S B
(1) 10 fpH/Aver (2) 12 fHt /g0

(3) 13 Rt /Aver (4) 15 fHt/gver

Level-3/3308
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72.

73.

74.

75.

76.

[A]

A 1s twice as fast as B and B is thrice as
fast as C. If some distance is covered by
C in 54 minutes, then in how much time

will B cover ?
(1) 9 minutes (2) 18 minutes

(3) 12 minutes  (4) 15 minutes

If the
rectangular plot be increased by 50%

length and breadth of a

and 20% respectively, then how many

times will its area be increased ?

) 2)

3) “4)

N|—= W=
Nk Wl

10 litres of milk contains 8% water. What
quantity of pure milk should be added to

this mixture to reduce this to 4% water ?
(1) 6 litres (2) 8 litres
(3) 10 litres (4) 15 litres

If sinA—cosA =0, then the value of
sin* A+cos* A is :
(H 0 (2) 1

1 3
- 4) =2
3) 5 4) 1

A boat covers a certain distance

o1 A
downstream in — hour, while it comes
2

back in 1l hours. If the speed of the
2

stream be 5 kmph. What is the speed of
the boat in still water ?

(1) 10 kmph (2) 12 kmph
(3) 13 kmph (4) 15 kmph

P.T.O.



[A]

77.

78.

79.

80.

af¢ fpel FIe AT F 'pit dar na'
ad ‘GH =S &7, 'dar tok pa'
ad ‘o8l AR U7 'tim na tok'
e ‘G g e SE AW Y % g
B9 A= B ?

(1) tim (2) tok

3) na (4) pit

e SO BT, IR-UREH @
‘oiEm’ ‘SRo-uided’ @ ‘SRr @Er
ST B qer 3 U AW off & B, o
‘TAT H FA FHEl S ?

(1) =ferer (2) ITX-vieEH

(3) IW-q4 (4) TN

TF O 3Rl Hl G 4p3 H 984 Sred
W TF IR 3R & d& 13q7 I el
213X 13q7, 119 999 &, @ (q—p) F

qM BRT -
() 8 2) 9

3) 7 4 11

fRu U e w1 dqia wE T

ferel & ufcreare & form wioRiE fEel 6

qEl AH TR G
9#7%2%3%10

(I) Xx++= (2) —+x=

3) +-x= 4) X+=-

Level-3/3308
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77.

78.

79.

80.

If in a code language 'pit dar na' means
"you are good", 'dar tok pa' means
"good and bad", 'tim na tok' means
"they are bad". In the same language

which word stands for "they" ?

(1) tim (2) tok

3) na (4) pit

If 'South-East' is called 'East’, North-
West is called 'West' 'South-West' is

called 'South' and so on, what will
'North' be called ?

(1) South (2) North-West

(3) North-East (4) North

A three digit number 4p3 is added to
984 to get a four digit number 13q7. If
13q7 is divisible by 11, then the value
of (q—p) will be :

(H 8 2) 9
3) 7 @ 11
Select the correct combination of

mathematical signs to replace "*' signs

and to balance the given equation :
9*7*2*3%*10
(1) x++= 2) —+x=

3) +-x= 4) X+=-



81.

82.

83.

84.

85.

86.

Raarel, ™R 2018 & wREE @« #
o qeh S

(1) @1 Ea

(2) I g

(3) fa™ F=T Fred

(4) dmr i

frfafas & & F9-0 e afedr J
Tfed 78 el § ?

(1) & (2) FHHEEC

(3) 3= (4) g

& R Fd SE J 1857 & shifaemi A
ECET-e e Mo B oo M 2| B

(1) 9aq (2) Uzah

(3) T (4) ARA
STO-2011 & STEUR WX ERATm @
JET FERA X ©

(1) 75.6% (2) 65.9%

(3) 84.1% 4) 71.4%
FrfaRad § & b9 T & |1 R
TET U’ ST || T T © 7

() fed=d g=sT

(i) ITETS

(iii) TeTEI=

(iv) 9STT"

q& ST Y

(D @Tar Gv)  (2) 1) TAT (i)

(3) (iii) T (iv) (4) FAF (iv)

do FHRT M & I} | fr=fareag § 9

BT AT FFT § 7

(1) Jo “HRM M= 3 fda® & 9ed
el | wewayel G e |

(2) e oEd & o S
T § Sl @ U SEEe @
ST T o |

(3) I NaFl ¥ U Aded  Hawr
TRIaTe foha |

(4) 1952 ¥ 1956 T% di {9 99 &
T R©
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81.

82.

83.

84.

85.

86.

[A]
The player who won the Gold medal in
the Asian Games-2018 :
(1) Neha Goyal
(2) Bajrang Punia
(3) Vikas Krishan Yadav
(4) Seema Poonia

Which of the following rivulets does
not converge into Sahibi ?

(1) Dohan (2) Kasavati

(3) Indori (4) Drishadvati

The region in which Colonel Gerrard
led the counter attack against 1857
revolutionaries :

(1) Panipat (2) Rohtak

(3) Mewat (4) Narnaul

The male literacy rate of Haryana as per
the census-2011 is :

(1) 75.6% (2) 65.9%
3) 84.1% 4) 71.4%

With which of the following states, the
"Kalesar National Park" shares its
boundary ?

(i) Himachal Pradesh

(i) Uttrakhand

(iii) Rajasthan

(iv) Punjab

Choose the correct answer :

(1) @) & (iv) (2) (1) & (1)

3) (i) & (iv) (4) Only (iv)
Which of the following statements
about Pt. Neki Ram Sharma is not true ?
(1) Pt. Neki Ram Sharma played a vital
role in the Home Rule Movement
of Lokmanya Tilak.

He organized a public meeting of
Gandhiji at Bhiwani during Non-
cooperation Movement.
He published a Hindi
'Sandesh’ from Bhiwani.

He was a Rajya Sabha Member
from 1952 to 1956.

2

(3) Weekly

“4)

P.T.O.



[A]

87.

88.

89.

90.

‘JegrEl foare A AN & R |

Frretferiee semt oX fer=m iy

() Wh fagar & T F faaE 2]
gl,OOO U e feEr o
|

(b) U fauar wfeen & aiffie o T
TRE B9 § FHH B AR |

SEE ¥ & B-A1 #0978 /8 7
(1) Bad (a) T B |

(2) Fad (b) TE 2|

(3) Tl (a) AR T & (b) FE B}

(4) (a) T (b) AT T F |

frfofag & @ ®9-891 ®od ‘9qErr
T AT $ ST a7 & 7
(1) =T (2) o

(3) TR 4) @

Frefafad & & @e-a1 BEa g
geuis (dlo Silo g=go) T & ?

(1) STEs 2) T

(3) HEYXY 4) R

frfcfad @ gafed HifT

Gy ot

A. X ol% uRRRE () HeEs
H dfTead

B. X % Ufmed (i) R
B gy

C. 9G¥ % Ueded (i) 3%
W THeH

D. ges  G-FUT (iv) HE
ECm ATy

e e P
A B C D

(H @ @@ Gi)  Gv)

2 @®» (@) @G) Gv)

3) Gv) @y Gi) @)

@) Gv) (@) @G) @
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87.

88.

89.

90.

Consider the following statements about

the 'Mukhya Mantri Vivah Shagun

Yojana':

(a) For the marriage of the daughter of
a widow a grant of Rs. 51,000 is
provided.

(b) The income of such widow lady
must be less than one lac per annum.

Which of the above statements is/are
correct !

(1) Only (a) is correct.

(2) Only (b) is correct.

(3) Neither (a) nor (b) is correct.

(4) Both (a) and (b) are correct.

Which of the following crops does not
cover under the 'Bhavantar Bharpayee
Yojana' ?

(1) Sugarcane (2) Potato

(3) Tomato (4) Onion

Which of the following is a Painted
Grey Ware (PGW) site ?

(2) Balu

(3) Bhagawanpura (4) Bhirrana

Match the following :

(1) Banawali

Center District

A. Center of Excellence (i) Kurukshetra

for Vegetable

B. Center of Excellence (ii) Sirsa
for Flowers

C. Center of Excellence (iii) Jhajjar
for Fruits

D. Integrated Bee-keeping (iv) Karnal

Development Center

Choose the correct code :
A B C D

H ® @ G Gv)
@2 ® G @ Gv)
@) Gv) G G @)
@ Gv) @) () (3)

Level-3/3308
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[A]

ART— IV / PART - IV
3T / ECONOMICS

@sr : =i god] % Gav @7 & [T @@ fEd [ g

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

93.

[gsg AR @©ed (WTO) &d  Iud
ga 7

(1) S=ad 1935
(2) S=Ed 1945
(3) S=Ed 1985
(4) S=Ed 1995
ufyey §e Red “ad’”’ (SAIL) &l &

GI9 R 91 @l GeEar 9 g feE
Y

(1) 9
(2) 9 W T X
3) IWT
(4) TS FETen

1 & & &9 #9990 @ A" H
el o 78 B °?

(1) UfeIg=T &l e
(2) & & ST

(3) & W G BN Al AF FH AT

(4) IR | qREe & g

Level-3/3308

91.

92.

93.

When did WTO founded ?

(1) January 1935
(2) January 1945
(3) January 1985
(4) January 1995
SAIL steel plant in West Bengal was

established with the help of which

country ?

(1) Japan

(2) USSR

(3) USA

(4) United Kingdom

Which of the following factor is not a

determining factor of Price Elasticity of

Demand ?
(1) Availability of substitute
(2) Uses of goods

(3) Proportion of Income spent on

goods

(4) Transport facility in Market

P.T.O.



[A] [22]

94. =itk SNl d AR W, =W & 94. What is the marginal product of the
TR gU¢ 1 G Scdled T Brm ¢ third hour of labour, according to
following information ?
9 % 9o NESIRIES LRI | Hours of Total Marginal
e Labour Output Product
0 0 0 0 0 0
1 100 100 1 100 100
2 ? 80 2 ? 80
3 240 ? 3 240 ?
(1) 240 (1) 240
(2) 60 (2) 60
(3) 80 (3) 80
(4) 160 4) 160
95, YR Wi TR TR gAE FEsor 95. Whose job is to take effective control
feperepT P & ° over the Indian stock market ?
(1) &I (1) IRDA
(2) Fef (2) SEBI
(3) To THo Elo Tdo (3) NSDL
(4) To THo Zo (4) NSE
96. STRId 9RAT NF a1 ﬁil'cﬁl'm" (WPI) &1 96. When the base year of All-India WPI
AMIR a9 2004-05 & 2011-12 & has been revised from 2004-05 to
gt feam T ? 2011-12 2
(1) T 2017 (1) May 2017
(2) = 2013 (2) May 2013
(3) = 2015 (3) May 2015
(4) = 2018 (4) May 2018

Level-3/3308



97.

98.

99.

100.

T ARG qoeT a7 8 7
(1) o R & & A=K A 2|

(2) e g uitd & X & 2@ ey
T |

(3) % 9] TF 99 RR & g9i¢ S|
(4) g7 FHEIOT H TH qheH HOTel |
qd ¥ SaXd AT i orary @ off ?

(1) 1967-69
(3) 1980-85

(2) 1978-80
(4) 1975-80
HHE T T I &

(1) e

(2) fadEs e &

(3) Urf¥eh I &

(4) uREcHsie qe

U AR ‘FAeHT B B A
HT A 8 7

(1) |l g TR § &
(2) IIfEd qEGeAl i el AET AR
2l

(3) TE A AN W Iemed @l
U HiE Qe qeie TRl g &

(4) GHEE I Ted qodae S9N
RIS IR
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97.

98.

99.

100.

[A]

What is the Zerobase budgeting ?

€]

Difference between income and

expenditure is zero.

2

Start the expenditure without any

income.

(3) Making a budget every time with a

fresh start.

“)

An unrational method of budgeting.

What was the timing of Rolling Plan in

India ?
(1) 1967-69
(3) 1980-85

(2) 1978-80
(4) 1975-80
Quasi rent is a result of :

(1) Long run

(2) Secondary cost

(3) Primary cost

(4) Variable factor

An economy achieves "productive
efficiency" when :
(1) the best resources are employed.

2

the total number of goods produced

is greatest.

3)

goods are produced at least cost

and no resources are wasted.

“)

resources are employed in their

most highly valued uses.

P.T.O.



[A]

101.

102.

103.

104.

“FRUe oTafy” g8 o FHeard o

(1) &b

(2) S

(3) STTUER

(4) AT ST

Ffe dme (AfRE) SR ar ReR

&, d Jo o Hio (IR T=ET TF)
BT :

(1) IR
(2) 418 = AR ggar gam
(3) AR
4) gl

qd 2018-19 BF T F FAaH GHIH
& (MSP)FI 8 7

(1) 1560 ufcr ferefeet

(2) 1840 Ui fered

(3) 1980 Ui feried

4) 1730 Ui feRed
Fretifed § 9§ H9-8 TF ‘ST ATl
% Qe 78 2 ?

(1) EHT A = &g

(2) AFT M = HFd

(3) T T > T A

(4) Tl AMH = HAT X I qE

Level-3/3308

[24]

101.

102.

103.

104.

"Secular period" is also known as :
(1) Long period

(2) Very long period

(3) Short period

(4) Very short period

If the marginal (additional) opportunity
cost is a constant, then the PPC would

be :

(1) Convex

(2) Backward bending
(3) Concave

(4) Straight line

What is the MSP (Minimum Support
Price) of wheat for 2018-19 ?

(1) 1560 per quintal

(2) 1840 per quintal

(3) 1980 per quintal

(4) 1730 per quintal

Which of the following is not a
characteristic of a "price taker" ?

(1) Marginal Revenue = Price

(2) AR = Price

(3) AR>MR

4) TR=PxQ



105.

106.

107.

108.

109.

“HTRYE wiS” qErEd ©

(1) g9 3T 4

(2) g9 faqe 4

(3) g9 Ieured T faaeer & 4

4 T @ TT IS § AR A &
faaeeT 4

oo & 99 SoEedl e @@

gfcrre fFae far ?

(1) So o F®H

() ®4

(3) gedex

4) Rt

ARG H AESeE &9 SR H [afaw
HAT e g g5 7

(1) 1989-90 (2) 1990-91

(3) 1991-92 (4) 1992-93

Rrest 1 geay Ft § 7

(1) TREYY (2) TGS

(3) I=H (4) TN

ISR H B 39 F I gy BH A
FI3 T F&f BA & 7

(1) THIBR

(2) o1 iR

(3) Yol HferIfe

(4) SRR

Level-3/3308
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105.

106.

107.

108.

109.

[A]

The "Operation Flood" is related to :
ey
2
3)

Milk production
Milk distribution

Both production and distribution of
Milk

“4)

Neither production nor distribution
of Milk

Who has
productivity theory of distribution ?

rendered the marginal

(1) J.B. Clark

(2) Keynes

(3) Schumpeter

(4) Ricardo

When the disinvestment period started
in public sector enterprises in India ?

(1) 1989-90 (2) 1990-91

(3) 1991-92 (4) 1992-93

Where is the head quarter of SIDBI ?
(1) Gorakhpur (2) Lucknow

(3) Ujjain (4) Prayagraj

In which market, there is no difference

between the industry and the firm ?
(1) Monopoly

(2) Perfect competition

(3) Imperfect competition

(4) Duopoly

P.T.O.



[A]

110.

111.

112.

IOR i M B e o | e
PA-AT & 7

(1) A=< & U U GRS

(2) el & @M o T

(3) gl & g

(4) TF = & TRy § R & q=

a¥ 2018 & Tf¥E fas & fow e
YR e i ?
(1) feferm e way dfd IR

(2) deX To TEATE WEH A o
AR

(3) T Sed

(4) A B¢ uaq e Seei|
TR 1 FSTR HAT 956 ReehI0T I
T B

(1) ®Hd § TF gia B Tga HA B,
HHd H Th HH & G q |

(2) BET § Uh gha w1 GIOY A
I, %Md § 6 F4 & Tge 4|

(3) dma § A1 gha F AN =T F
RICRtEaul

(4) HFT % A" HEd ghe F ool
AgER AR HHd § FH BN W
QUi SRR B |
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110.

111.

112.

Which of the following is considered

production in Economics ?
ey
2)
3)
“4)

Painting a picture for pleasure
Singing a song before friends
Tilling of soil

Preventing a child from falling into

a bore

Who won the Nobel prize for economic

science for 2018 ?
William Nordhaus and Poul Romer

ey

(2) Peter A. Diamond and Dale T.

Mortensen
(3)
“4)

Angus Deaton

Oliver Hart and Bengt Holmstrom

The kinked demand curve model of
oligopoly assumes that :

(1) The response to a price increase is

less than the response to a price

decrease.

(2) The response to a price increase is
more than the response to a price
decrease.

(3) The elasticity of demand is
constant regardless of whether

price increases or decreases.

The

perfectly elastic if price increases

of demand is

4

elasticity

and perfectly inelastic if price

decreases.



113.

114.

115.

116.

U FHA ERT ATHIST B OHOT S S
%:

(1) o gt oX

(2) ST @ B T W

(3) sffepd Tt T

(4) FIET Tofl T

A G Sfaed § ardd @
(1) BEae ofea aRadwsii|a armd
(2) gheHM G ANTd

(3) BAHM AEd ReR Anmd

(4) BHHM HHRT AR

2018 ® o dAewie d9 & faom #
HF-A1 4% afafad 78 2 ¢

(1) zes I%

(2) faomn %

(3) 3 ¥%

(4) 9% 3 g

e’ o6 Al & Heg T el ¢

Sk 0 1 2 3 4 5 6

ﬂﬁ NI 240330 410 480 550 610 690
(1) 2 @ 3
(2) 3 3R 4
(3) 4 3R 5
4) 5 A6

Level-3/3308
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113.

114.

115.

116.

[A]

Dividend is announced by a company

on:
(1) Subscribed capital
(2) Issued capital

(3) Authorized capital

(4) Unauthorized capital

Diminishing marginal returns implies :
(1) Decreasing average variable costs
(2) Increasing marginal costs

(3) Decreasing average fixed costs

(4) Decreasing marginal costs

Which bank is
merger of three public sector banks in
2018 ?

(1) Indian Bank

(2) Vijaya Bank
(3) Dena Bank

(4) Bank of Baroda

not included in the

For the following data "Diminishing
marginal returns" start to occur between
units :

OQutput 0 1 2 3 4 5 6
Total cost 240 330 410 480550 610 690
(I) 2 and 3

(2) 3 and 4

(3) 4 and 5

(4) 5 and 6

P.T.O.



[A]

117.

118.

119.

120.

AT N FHET IR ©
(1) 9 gl & wHd 5 gfa
(2) 3 a& ®l HE H gha w

(3) SuAEFmeT @ dEr § wH H

(4) sl ® TF H HH H:

feg gfa X Fwafed &

(1) See |

(2) i AR o |

(3) T o |

(4) 999 gy Fas 49
HreHRihel & fakael @ den § o
gl 4 gha Brl e

(1) Arexemfear & A7 §

(2) HeTaEREl H Had q

(3) HieTEmEfE ® i |

(4) B &I AT §

“AM @I S #Ad 20 B9 BN 0,
Ot T AR 9 IR 2, A S i

19 599 B9 W 96 T AET 10 3HE
%ln

SUUHT AT & SAER W It 4 9 9
10 3B & ghs & HaEed N
A b B ?
1 1
3) 19

(2) 10
4) 20

Level-3/3308
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117.

118.

119.

120.

Contraction of demand is the result of :

(1) Increase in the price of other goods

(2) Increase in the price of goods
concerned

(3) Decrease in the number of
consumers

(4) Decrease in the income of

purchasers

Hindu growth rate is related to :

(1) Population

(2) Per capita income

(3) National Income

(4) Saving and Investment

An increase in the number of sellers of
bikes will increase the :

(1) Demand for bikes

(2) Price of a bike

(3) Supply of bikes

(4) Demand for helmets

"Assume that when price is 20 rupees,
the quantity demanded is 9 units and

when price is 19 rupees, the quantity
demanded is 10 units."

Based on this information, what is the
marginal revenue resulting from an
increase in output from 9 to 10 units ?

1 1 (2) 10
3) 19 4) 20



121.

122.

THITRRIES TR & STaERen
P & 7

(1) il A A

(2) SEHT =

(3) Sio Mo fea™

(4) So THo H=

S, oM G A Bl HIIE
Tl B, it

() 78 IR AifEE a¥enl Hl qrferd et
T B |

(i) ¥& QoI T Hifsd "9E ¢ |

(ii) 78 wHEelg  ofasher & afufad
T e B

(iv) SIS & =g fafy qaq S iy
CREEAEE R L i

7 ey 3 -
(1) (@)l i)
@) (@)@ (Qv)
(3) (i) 3R (iv)

4) (iii) AT (iv)

Level-3/3308
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121.

122.

[A]

Who gave the concept of Monopolistic

competition ?

(1) Mrs. John Robinson
(2) Prof. Chamberlin
(3) J.R. Hicks

(4) J. M. Keynes
GDP is not a very good measure of
economic prosperity, because :

(i) It does not include non-monetized

transactions.
(i1) Itis purely a monetary measure.

(iii) It does not include environmental

degradation.

(iv) The expenditure and production
method to GDP yield different

results.
Choose the correct option :
(1) () and (i)
2) ()and (iv)
3) (i) and (iv)

@) (iii) and (iv)

P.T.O.



[A]

123.

124.

125.

126.

fasg 9% =T & TR | B T F7
qar g ?

(1) FH

(2) aAFER b

(3) =™

(4) 7B T

A’ e e deediE Ao |
&7

(1) ugm

(2) g

(3) Bot

(4)

PI-A1 FieFh qeF IXH AW T
78] BB ?

(1) M ()

(2) X (g Are)

6) 7 (ag)

(4) UHH HIeY

FE famaa 3 § W & s el
gt Femer & ?

(1) giGAH
(2) R
(3) "=t

4) =EEA

Level-3/3308
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123.

124.

125.

126.

What does the World Bank take against

guaranteed loans ?
(1) Commission
(2) Compulsory fee
(3) Interest

(4) Nothing

'NABARD' was founded in which five

year plan ?

(1) First

(2) Third

(3) Sixth

(4) Ninth

Which statistical mean is not effected
by marginal values ?

(1) M (Median)

(2) X (Arithmetic mean)
(3) Z (Mode)

(4) H.M.

The vicious cycle of poverty shows,

which kind of tendency in semi-

developed countries ?
(1) Increasing

(2) Constant

(3) Cumulative

(4) Decreasing



127.

128.

129.

T &l ardidd ¥

(1) TETERIT & & ge1 (o) HiEh | &
ELEREC |

(2) AiEF W " (-) T W B
ELEREC |

(3) AfEH & Mg (+) ETEIT & F
ELEREC |

(4) TETERI 96+ 9T el

g wwitemR § H-a @ AR
AT & & 7

(1) AC
2) MC
(3) AR
(4) MR

qad § qauem ‘Ard e [aeauer &
SR fhe fRam ?

(1) #7=HRd e
(2) o ANo MR
(3) o ®o Ao dlo Y@

(4) FHER @A

Level-3/3308
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127.

128.

129.

[A]
The real rate of interest :

(1) Equals the rate of inflation minus (-)

the nominal rate

(2) Equals the nominal rate minus (-)

the rate of inflation

(3) Equals the nominal rate plus (+) the

rate of inflation

(4) Tends to increase when inflation

rises

Which curve is rectangular hyperbola in

pure monopoly ?
(1) AC
(2) MC
(3) AR
(4) MR

Who used first ever the 'cost benefit

analysis' in India ?

(1) Manmohan Singh
(2) D.R. Gadgil

(3) V.K.R.V.Rao

(4) Kumara Swaminathan

P.T.O.



[A]

130.

131.

132.

I o a9 § ¢
(1) ST a0 gaad § g &l

(2) a1 Y AT g% ao H o
I
(3) T T IYAT H T FHl

4) &0 @ B T

FA HioE 6 ol ToFTR i Reafa #

9 qfd d=ad g1 39 Refd # &4 #

FREe 9 :

(1) FHd WY T adiad Scaed
FE T9E e IS |

(2) ATEia® I TG fohegg HiFa &Y
HIfad @ |

(3) HHA WX e by arifee Ieare
HIfad @ |

(4) FFA WX @Y IS IR G961 |

T H e (2018) HIEE & BRI

I E?

() frsht Qewifea Fag & s

(i) TSTHNE 91§ IR

(i) M AR dgE T R #
A J&

(iv) &= dd & Bl § 39

@& fawed I

(1) #ad (iv)

(2) (i) q=m (iv) I

(3) Fa (i), (ii) T (iv)

@) (), (i), (i) & (iv)

Level-3/3308
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130.

131.

132.

Transmission mechanism shows :
(1) The relationship between income
and saving

(2) The relationship between money
market and goods market

3)

The relationship between income

and consumption

(4) None of these

Suppose there is full employment and
aggregate supply is vertical. A decrease
in taxes :

(1) has no effect on the price level or
real output.

(2) increases real output but has no
effect on the price level.

3)

increases the price level but has no
effect on real output.

(4) increases the price level and real
output.
What are the reasons for recent

depreciation in rupee (2018) ?

(i) FPI outflows

(i1) Fiscal deficit blues

(iii) Trade war between USA and China

(iv) Crude oil price boiling
Choose the correct option :
(1) Only (iv)

(2) Both (ii) and (iv)

(3) Only (i), (ii) and (iv)
4) (), (i1), (iii) and (iv)



[33] [A]

133. W a% @ STAR, A H W H gha 133. According to the 'Laffer curve' as the
9 H O ¢ tax rate increases, tax revenues :
(1) ved EI@‘ NSRS S| T (1) initially increase and then decrease
(2) Ted g SISECIN| EI%Tﬁ (2) initially decrease and then increase
(3) MY Fom (3) rise continuously
(4) =T g (4) decrease continuously

134. 9T & S9EE g9 2001 @ 2011 134. What was the population density of
§ feher o ? India in 2001 and 2011 ?
(1) 322 3T 385 (1) 322 and 385
(2) 344 AR 311 (2) 344 and 311
(3) 325 T 382 (3) 325 and 382
4) 302 3l 275 (4) 302 and 275

135. TR 2018 § 9RT XN A %3 e 135. "In 2018, September government of
ERTjBﬁ W e Serr fepaiery ? India hikes custom duty on many luxury
(1) =g @ a1 o e & R items", for :

(1) controlling the CAD
() @ & P REISEEN RRERICATLY (2) controlling the depreciation of
rupee

(3) W & I F@rE W MIFAT & e (3) controlling outflow of dollar
(4) = a1 & fau (4) All of these

Level-3/3308 P.T.O.



[A]

136.

137.

138.

TH MR G F B 6 7
(i) g SErT 9 i g9E
(ii) 3G & fafeener ® o gae

(iii) foRelt ST @1 Foar g@

(iv) IUHEFRISAT I B
(1) @, @G, (ii)
(2) @), (1), (1v)
(3) @, (i), (@v)
@) @, (i), (), @{1v)

st IUHAT @ Y aftafed 2l 2

(1) Qe =0
(2) T wifaEr
(3) YoiiTer et
(4) HfEpd T

A SRT il I Bl & S

(1) wordl &t g

(2) =¥ &l I gl

(3) H= AW & AN T

(4) T i 9 e iR feaf 2rm

Level-3/3308
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136.

137.

138.

What is the loss of "Free trade" ?
(i) Adverse effect on infant industries

(i1) Adverse effect on diversification of

Industries

(ii1) Increasing impact of Foreign

capital
(iv) Loss to consumers
(1 (@), (i), (1)
(2) (i), (i), (v)
(3) (@), (1), (1v)
4) (1), (1), (1), {Qv)

Profits from public sector undertakings

come under :

(1) Public dept

(2) Revenue receipts
(3) Capital receipts

(4) Monetized receipts

Cost push inflation occurs when :
ey
2
3)
“)

Wages are decreased
Productivity of labour increases
Cost of raw material increases

Aggregate supply curve shifts to
the right



139.

140.

141.

PN Te B GE dfafedr, amfes
®Y ¥ T Bl 8

(1) 3 & FR &

(2) g9 %

(3) 3 % Febel HY IS &

(4) Tl TE I H () Hebel HX

SISIE

e GHE T A UK TY gEd T
U= T [T, a Fied § § @ gfed
2R ?

(1) ER & 79 garel § gha arl

(2) @R & O RO H gha enil

(3) TRl T | gis BRl
(4) faesi g1 woer § gia arl

AT FoaT AL @
(1) o1 ISR &

(2) SR Rear &
(3) SR &I AYCIAT &l
(4) o1 iR &

Level-3/3308
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139.

140.

141.

[A]

All entries in the balance of payments

should collectively sum to :
(1) Exports of that country
(2) Zero

(3) GDP of the country

(4) GNP minus (=) GDP

If Mr. Ram buys a National Small

Savings Certificate, which of the

following is likely to happen ?

(1) Increase in the other liabilities of

the government

2

Increase in the government market

borrowings
3)

Increase in government revenue

Increase in forex reserves

“)

Price rigidity is a characteristic of :
(1) Full employment

(2) Longrun stability

(3) Imperfectness of market

(4) Perfect competition

P.T.O.



[A]

142.

143.

144.

IR % T T, HIF-HI FHEardl © 7

() AT Fand

(i) STETTT damd

(iii) ST TFard

(iv) T Brametl | ara o
(1)
(2)
3)
“)

(1), (11), (ii1)

(1), (i1), (iv)

(i), (i), (iv)

(1), (1), (1ii), (1v)

R Gl SaE eFuE 5 : 1 &, ar ool

T Tt BRT 7

1) 5

@) 1/5

3) 25

4) 0.5

qgaEE T gEwE 2018 FREE B

S fehar & ?

(1) g=go o alo

2) go To Fo Ho &Y a0 Fo THo
Mo

3) fasg 9%

4 aTléo Eﬁo 3o ﬁo Bﬁ’{ ?io Uqo
3o

Level-3/3308
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142.

143.

144.

Which items are called the invisible

items of trade ?

(i) Banking services

(i1) Shipping services

(ii1) Insurance services

(iv) Income from tourism activities

(1) @, (), (i)

(2) ), (D), (Qv)

(3) (@), (ii1), (iv)

@ @, (i), (iid), (iv)

If the capital output ratio is 5 : 1, then
what will be the capital coefficient ?

(1) 5

2) 1/5

3) 25

“4) 0.5

The Multidimensional Poverty Index
(MPI) 2018 released by :

(1) WTO

(2) UNDP and OPHI

(3) World Bank

(4) IBRD and UNO



[37] [A]

145. 3TMEo THo - Udo THo (IS-LM) &9 145. In the IS-LM framework, an increase in
4, A SN 2 ° uE ghs - autonomous government expenditure :
(1) 3T UF &N X &A1 H FHl & &9 (I) Will result in a decrease in both
§ qRford &r | income and interest rates.
(2 9@ ¥ FH @ AN & | ﬂ'@ ® (2) Will result in a decrease in income
wq ¥ R Er | and increase in interest rates.
(3) ¥ T &AM & A A ﬂ'@ ® @Y (3) Will result in an increase in both
§ qRford &r | income and interest rates.
4) g ° ﬂ'@ Td A W H FH B (4) Will result in an increase in income
wq ¥ R Er | and decrease in interest rates.
146. HOaEl REra # SOOI H B 146. The unemployment in the Keynesian
2 R model is caused by :
(1) 9 &I g (1) Supply sufficiency
) 1T g (2) Demand sufficiency
(3) qfid &I A (3) Supply deficiency
“4) 1T T ST (4) Demand deficiency
147. a9 %l geaad snasman (ReRed) © ¢ 147. World's largest refinery is :
(1) WBJHT FIBFIS (1) Paraguana Refinery
(2) THo Fo UGN e SN (2) S. K. Energy Ulsan Refinery
(3) B9 SMEeTar (g &) (3) Ruwais Refinery (Abu Dhabi)
(4) ST SN (4) Jamnagar Refinery

Level-3/3308 P.T.O.



[A]

148. TH 29 & AR &9 F F8 T g5

149.

150.

qTeq oTg Taed®h w9 § Say et

(1) T A &
(2) HET @R T Y L, IAE B

(3) IFIR FMd W Y5 =AY IUE &

(4) I A W g5 TG IdE &

fperl, =X Tqq HEEE GieH &
o, faoten & o & fafgy X gt
g

(1) gof gt |

(2) RS 9

(3) FEd fade |

(4) HIgER 0T % A

“org fomfaa R fasa @ W afedEr
21 98 HI e © 7

(1) To To HFshid

(2) HifT F

(3) Fo e

4) TFT Tl

[38]

148.

149.

150.

The net factor income earned within the
domestic territory of a country must be

equal to :
(1) Personal income
(2)

Net Domestic product at factor cost

3)

Net Domestic product at market

price

“)

Net National product at factor cost

Different rates of electricity bill for

farmers, households and business

houses are related to :

(1) Perfect competition

(2) Dumping

(3) Price discrimination

(4) Kinked demand curve

"Under developed countries are the slums

of the world." This statement is by :
(1) A. N. Cairncross

(2) Colin Clark

(3) J. Bhagwati

(4) Ragnar Narkse

Level-3/3308



6.

Ul b SR, SR UFh A HUiRd @™ Bl dret /N
dfd wrge 9 ¥ giaar AT g, o fs A e

TR
O @ ® @

6. Answers to questions in answer sheet are to be given by

darkening complete circle using Black/Blue ball point pen
as shown below :

© @& © ®

The answer will be treated wrong, if it is marked, as given below :

O ® & >

If you fill more than one circle it will be treated as a wrong
answer.

ERT T T3 SR Tad AT SO, Ife SR dTel
@ﬁaﬁﬁﬂwﬁmﬁ%

O R & @
I T A ST Wl Bl MR T & Al 3BT SR Tod
HET ST |

10.

11. U=

12.

13.

14.

15.

16.

17.
18.

19.

20.

. % B W—gﬁﬂrbl # 39 o & forg & E @relt SFE W & &Y | (Rough work should be done only in the space

provided in the Question Booklet for the same.)

. T IR Bad OMR TR U6 R 81 3ifdhd &Y | 30 IR &IHYdd 2Afhd T | IR g =g 29d Joidh (ABE Fogs) Bl

T g ® (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

LIS T @ forg R U AR Reedt 3 9 Sfd fdwen & folg OMR STR 99@ &R &ad Ud gd & & g4 aRE el / Blet

dfcl Wrse 9 9 W TP IR IR 3ifhd P B 9IS S ISl T8l S Fbal B | (Out of the four alternatives for each
question, only one circle for the most appropriate answer is to be darkened completely with Blue/Black Ball Point Pen on the
OMR Answer Sheet. The answer once marked is not allowed to be changed.)

el gHARad o {6 59 SR 45d B Aiel 9 WY Td I R BIg 31 e 7 M | 3ngedi =1 el SR U3d
# feiRa v @ srfaRad e=u 7 foRd | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray marks on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.)

—gRAPT T IR TS HT SAFYED JANT By, Fifd B aRRefT # (ge—gRaer wd SR w96 & wAie 3 e
B! RAT BT BredR) T YT YRAST T ST T8l HYATs WG | (Handle the Question Booklet and Answer Sheet with
care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

TA—YRATHT /IR U5F H f3Q T HHIG BT el el da F gwdeR aic H fod | (The candidates will write the correct

Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

gl B URIET B/ BeT H YA UF AR UgAM U & SfIRE Bl THR B qreadEd, gfad a1 sxifoiad drTel 3
Ufedf, SR, AaIgd WH, Sdgiid UG AT B 3 UBR B GEEH DI of S IT STANT HRA DI AT 8T © |
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
device or any other material except the Admit Card and Identity Card inside the examination hall/room.)

TfId gRT 8 oM W YIS gl 3T gawr dre ([ o) 3R uga™ ux Wi | (Each candidate must show on
demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)

P efetd AT Tded B A SH‘T% P 77 PIE el JmuFT I |7 B | (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PRIRT GAdETH BT AU IR UAB QU 1 v AR A€ R SEART BIER [Py 97 angefi uden g 7€ v | Ay
el el 1 A IR EWER A1 W BWER el by A1 g AMI SN fh S99 SR U3d 8] dlerl & AR I8
Tfad | & AT AT STYT | OMR SR U3d § FuiRa o w | anafdiat grr 9 w19 & o &1 feme
wrrmmélw@m%wﬁwwmmmwmﬁﬁw@ﬁwﬁﬁwﬁmmﬁwﬁaﬁ
qEAT 7A@ E|§T‘f AITTH §8d ®H | (The candidates should not leave the Examination Hall without handing over
their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the
Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case.
All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should
be properly inked i.e. they should not be either over inked or dried in nature.)

golagid / gxcarferd URderd &1 SUANT afSid & | (Use of Electronic/Manual Calculator is prohibited.)
et Bt # MmeRvr & forg, apwneff fyarforast # & 13 ufhan / feen—fder g 98 & it el vd fftgst & Ry s < |
31‘3’%1?[ R e IOl e o ) B Re T IR IO ot R ol 1 o | AR 8FTT| (The candidates are governed by

Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

A BT H U IJDT AR SR Y=Ib BT I W AT T BN | (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

Wl T 8 W, gl Fe /B Bled W Yd SR UFG HE-UUdAS BT @A WU | gl o W s
W—W P o ST A& €| (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator
in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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